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QUESTION NO: 1

Click the Exhibit button.
A host attached to interface ge-0/0/0.0 has an open Telnet session to a host attached to interface
ge-0/0/3.0. After the session times out of the router's session table, the host attached to interface

ge-0/0/0.0 sends another data packet through the existing TCP session.

What will occur?




[edit security]
user@router# shom
zones |
securikty-zone Zoneld
tocp-rst;
host-inkbound-traffic |
system—-services |
ping;
telnet;

;

intertftaces |
ge-0/0/0.0;
ge-0/0/1.0;

1
securikty-zone ZoneB |

interfaces |
ge-0/0/3.0;

}
policies |
from—zone Zonel to-zone ZonelB |
policy A-to-B |
match |

source-address any;
destination-address any;
application any;

}
then |

permit;

ActualTests

A. The router will send a TCP reset to the host attached to interface ge-0/0/0.0.
B. The router will send a TCP reset to the host attached to interface ge-0/0/3.0.
C. The router will forward the packet out the ge-0/0/3.0 interface.

D. The router will silently discard the packet.




Answer: A

QUESTION NO: 2

You want to create an out-of-band management zone and assign the ge-0/0/0.0 interface to that
zone. From the [edit] hierarchy, which command do you use to configure this assignment?

A. set security zones functional-zone out-of-band interfaces ge-0/0/0.0
B. set security zones functional-zone management interfaces ge-0/0/0.0
C. set security zones management interfaces ge-0/0/0.0

D. set zones functional-zone management interfaces ge-0/0/0.0

Answer: B

QUESTION NO: 3

Click the Exhibit button. In the exhibit, which two statements accurately describe the information
about the interface se-1/0/1.605? (Choose two.)




